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Unit 5 Review Sheet- HONORS

1.) Austin depasits $5,000 into an account that pays 3.5% and is compounded quarterly. Sami deposits
$5,200 Into an account that pays 3.2% and is compounded monthly.

a. Write an expression for the amount of money Austin will have in his account after years. . . o
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b. Write an expression for the amount of money Sami will have in her account after 5 years if she

7 doesn’t deposit any more money.
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¢. How many years will it take Austin to reach $6584 in h!z bank account? 4 15 f
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An initial deposit of 8500 is invested at 8.5% inferest, compounded : fxzmm]
How long will it take ‘until the balance g gg ows 1o $800Y
i

:'}r.faf:)f} 5 O\( -Jrf\

G{Qufﬁ'&
(\
B 5

M
BO° = c’c}u( 03%)
< ko T ‘C"C. %3 St o
i e ok log | e (1617 X E %
Corm, tem = | o= { ) S 3;: —> 7 Loods - - \\&;) A2 i
o tog ’ : Jolbb eyt

! .-
- 5776 )
{ ooy font OB l



o7 T iy, 37 K
ij# E,af!_-_ﬁﬁ -7 } !Q gaj%b‘ o= &X:_—Sff'
& \_/_/ S .
Nasme: Chen \3. ! v , ) TRy PT Feenes Date:
25 e *C_-_ﬂ } v?fa: bing Fiwe Unit 5 Review Sheet- HONORS N - e Py i b
Al o Begon Andd 3 oo i ' /
5. Classify each statement as true or false, If false, change the second part o make
it true. ,
a I 6% = 12, then x = log,, 6.2 FAL £ b, Hlog,5 = x then3 =2, TALYN &
loer 11 . 1. L
€00 200 0% s L, HIER X S LY @ HX = 70 INen X T 0g, 3. 4eaidf
=S Hoz 7 2o %83 cj 10“ * ¥ l‘ SN et &
_ - _‘7‘_ \ }0@5 L= ;?(Cst‘f’t E” J\ /t ]OC; :; O
' 2L fest o : _
3Y b 1{3_ s’ _[\ ' N Fag sy S0 | SN
40 = ” -

1oy 5
&, The function gix) = 235(0.94)* gives the temperature in degrees Celsivs of 2 bowl of

waler x minutes after a large quantity of ice s added. After how many minutes will
the water reach 5°C2 oary = x
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7. For the fuinction gix) above, is it exponential growth or decay and by what percentage rate?
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%swmc the United States” national debt can be estiroated with the model
o LO7EROULOBIA15)Y, where x represents the nomber of vears since 1900
and y represents the debt in billions of dollars,
A According to the modal, when did the delst pass 1 illion (31,000 billios ny o,
- S
b, According to the moded, whal is the annuoal growth rate of the national debit 8.5 0
/ What Is the donbling time for this grosvth model?
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3. A\ Use the properties of logarithms and exponents o sobve these equations,
a. 5.0 = 247 B 17+ 125 = 3
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